

PROJECT: Pinellas Roadway
CONTRACTOR: Kamminga & Roodvoets, Inc.
Curb Ramp Replacement

ITEM NO.	DESCRIPTION	QUANTITY	U/M	HOURLY RATE	HOURS	TOTAL	UNIT PRICE	10% MARK-UP	TOTAL PRICE	TOTAL LINE ITEM
Bellview - 2 Ramps SW & Curb										
NA	Demo & Prep Curb Ramp & Sidewalk	1.00	LS				\$2,543.83	\$254.38	\$2,798.21	\$2,798.21
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
	4.4 FDOT Type F Curb	11.00	lf						\$15.00	\$165.00
	4.7 Concrete Walk 4"	175.00	SF						\$6.40	\$1,120.00
	Total for Bellview									\$4,083.21
603 Indian Rocks - SW & Curb										
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$4,425.87	\$442.59	\$4,868.45	\$4,868.45
	Job Forman	1.00	ea	66.27	9.50	629.57				
	Laborers	1.00	ea	34.14	9.50	324.33				
	Skilled Laborers	1.00	ea	38.60	9.50	366.70				
	Operators	1.00	ea	46.83	9.50	444.89				
	Rubber Tire Back Hoe	1.00	ea	54.24	9.50	515.28				
	Conex	1.00	ea	18.00	9.50	171.00				
	TP-145 Pick-Up	1.00	ea	23.59	9.50	224.11				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	19.00	1,297.32				
	MOT	1.00	ls		100.00	100.00				

ITEM NO.	DESCRIPTION	QUANTITY	U/M	HOURLY RATE	HOURS	TOTAL	UNIT PRICE	10% MARK-UP	TOTAL PRICE	TOTAL LINE ITEM
4.4	FDOT Type F Curb	61.00	lf						\$15.00	\$915.00
4.7	Concrete Walk 4"	300.00	SF						\$6.40	\$1,920.00
	Total for 603 Indian Rocks									\$7,703.45
NA	705 Indian Rocks - Curb & Driveway Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,543.83	\$254.38	\$2,798.21	\$2,798.21
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
4.4	FDOT Type F Curb	26.00	lf						\$15.00	\$390.00
4.8	Conc Drive Replacement 6"	270.00	sf						\$6.40	\$1,728.00
	Total for 705 Indian Rocks									\$4,916.21
NA	707 Indian Rocks- SW Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,590.66	\$259.07	\$2,849.73	\$2,849.73
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	2.00	76.78				
	Driver	1.00	ea	46.83	2.00	93.66				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
4.7	Concrete Walk 4"	100.00	SF						\$6.40	\$640.00

ITEM NO.	DESCRIPTION	QUANTITY	U/M	HOURLY RATE	HOURS	TOTAL	UNIT PRICE	10% MARK-UP	TOTAL PRICE	TOTAL LINE ITEM
Total for 707 Indian Rocks										\$3,489.73
Robling North To Roebing South - 2 Ramps, SW & Curb										
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,543.83	\$254.38	\$2,798.21	\$2,798.21
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
	4.4 FDOT Type F Curb	11.00	If						\$15.00	\$165.00
	4.7 Concrete Walk 4"	670.00	SF						\$6.40	\$4,288.00
	4.10 ADA Ramps	2.00	EA						\$1,300.00	\$2,600.00
Total for Roebing North To Roebing South										\$9,851.21
Robling South To Overbrook - SW & Curb										
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,543.83	\$254.38	\$2,798.21	\$2,798.21
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
	4.7 Concrete Walk 4"	825.00	SF						\$6.40	\$5,280.00
Total for Roebing South To Over Brook										\$8,078.21
843 Indian Rocks- Curb & Driveway										

ITEM NO.	DESCRIPTION	QUANTITY	U/M	HOURLY RATE	HOURS	TOTAL	UNIT PRICE	10% MARK-UP	TOTAL PRICE	TOTAL LINE ITEM
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,590.66	\$259.07	\$2,849.73	\$2,849.73
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	2.00	76.78				
	Driver	1.00	ea	46.83	2.00	93.66				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
	4.4 FDOT Type F Curb	10.00	lf						\$15.00	\$150.00
	4.8 Conc Drive Replacement 6"	378.00	sf						\$6.40	\$2,419.20
	Total for 843 Indian Rocks									\$5,418.93
	843 to 851 Indian Rocks- Curb & Driveway									
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,590.66	\$259.07	\$2,849.73	\$2,849.73
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	2.00	76.78				
	Driver	1.00	ea	46.83	2.00	93.66				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
	4.4 FDOT Type F Curb	20.00	lf						\$15.00	\$300.00
	4.8 Conc Drive Replacement 6"	423.00	sf						\$6.40	\$2,707.20
	Total for 843 to 851 Indian Rocks									\$5,856.93
	851 Indian Rocks to East Leigh- Sidewalk									
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,590.66	\$259.07	\$2,849.73	\$2,849.73
	Job Forman	1.00	ea	66.27	5.00	331.35				

ITEM NO.	DESCRIPTION	QUANTITY	U/M	HOURLY RATE	HOURS	TOTAL	UNIT PRICE	10% MARK-UP	TOTAL PRICE	TOTAL LINE ITEM
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	2.00	76.78				
	Driver	1.00	ea	46.83	2.00	93.66				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
	4.7 Concrete Walk 4"	370.00	SF						\$6.40	\$2,368.00
	Total for 851 Indian Rocks to East Leigh									\$5,217.73
	901 to 951 Indian Rocks- Curb & Driveway									
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,590.66	\$259.07	\$2,849.73	\$2,849.73
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	2.00	76.78				
	Driver	1.00	ea	46.83	2.00	93.66				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
	4.7 Concrete Walk 4"	55.00	SF						\$6.40	\$352.00
	4.8 Conc Drive Replacement 6"	297.00	sf						\$6.40	\$1,900.80
	Total for 901 to 951 Indian Rocks									\$5,102.53
	951 Indian Rocks to Sunnyslane- Curb & Driveway									
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,590.66	\$259.07	\$2,849.73	\$2,849.73
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				

ITEM NO.	DESCRIPTION	QUANTITY	U/M	HOURLY RATE	HOURS	TOTAL	UNIT PRICE	10% MARK-UP	TOTAL PRICE	TOTAL LINE ITEM
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	2.00	76.78				
	Driver	1.00	ea	46.83	2.00	93.66				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
4.7	Concrete Walk 4"	180.00	SF						\$6.40	\$1,152.00
	Total for 951 Indian Rocks to Sunny Lane									\$4,001.73
NA	Gardina & The Mall West - 2 Ramps, SW & Curb Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$2,543.83	\$254.38	\$2,798.21	\$2,798.21
	Job Forman	1.00	ea	66.27	5.00	331.35				
	Laborers	1.00	ea	34.14	5.00	170.70				
	Skilled Laborers	1.00	ea	38.60	5.00	193.00				
	Operators	1.00	ea	46.83	5.00	234.15				
	Rubber Tire Back Hoe	1.00	ea	54.24	5.00	271.20				
	Conex	1.00	ea	18.00	5.00	90.00				
	TP-145 Pick-Up	1.00	ea	23.59	5.00	117.95				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	10.00	682.80				
	MOT	1.00	ls		100.00	100.00				
4.4	FDOT Type F Curb	37.00	lf						\$15.00	\$555.00
4.7	Concrete Walk 4"	185.00	SF						\$6.40	\$1,184.00
4.10	ADA Ramps	1.00	EA						\$1,300.00	\$1,300.00
	Total for Gardina & The Mall West									\$5,837.21
NA	Gardina & The Mall East - 3 Ramps, SW & Curb Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$4,425.87	\$442.59	\$4,868.45	\$4,868.45
	Job Forman	1.00	ea	66.27	9.50	629.57				
	Laborers	1.00	ea	34.14	9.50	324.33				
	Skilled Laborers	1.00	ea	38.60	9.50	366.70				
	Operators	1.00	ea	46.83	9.50	444.89				
	Rubber Tire Back Hoe	1.00	ea	54.24	9.50	515.28				

ITEM NO.	DESCRIPTION	QUANTITY	U/M	HOURLY RATE	HOURS	TOTAL	UNIT PRICE	10% MARK-UP	TOTAL PRICE	TOTAL LINE ITEM
	Conex	1.00	ea	18.00	9.50	171.00				
	TP-145 Pick-Up	1.00	ea	23.59	9.50	224.11				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	19.00	1,297.32				
	MOT	1.00	ls		100.00	100.00				
	4.4 FDOT Type F Curb	81.00	lf						\$15.00	\$1,215.00
	4.7 Concrete Walk 4"	430.00	SF						\$6.40	\$2,752.00
	4.10 ADA Ramps	3.00	EA						\$1,300.00	\$3,900.00
	Total for Gardina & The Mall East									\$12,735.45
	Ponce & The Mall - 7 Ramps, SW & Curb									
NA	Demo & Prep Curb Ramp, Curb & Sidewalk	1.00	LS				\$6,517.02	\$651.70	\$7,168.72	\$7,168.72
	Job Forman	1.00	ea	66.27	14.50	960.92				
	Laborers	1.00	ea	34.14	14.50	495.03				
	Skilled Laborers	1.00	ea	38.60	14.50	559.70				
	Operators	1.00	ea	46.83	14.50	679.04				
	Rubber Tire Back Hoe	1.00	ea	54.24	14.50	786.48				
	Conex	1.00	ea	18.00	14.50	261.00				
	TP-145 Pick-Up	1.00	ea	23.59	14.50	342.06				
	Air Compressor & Hammer Rental	1.00	ea		229.07	229.07				
	Dump Truck	1.00	ea	76.78	1.00	76.78				
	Driver	1.00	ea	46.83	1.00	46.83				
	Flaggers (Demo, Prep & Pour)	2.00	ea	34.14	29.00	1,980.12				
	MOT	1.00	ls		100.00	100.00				
	4.4 FDOT Type F Curb	166.00	lf						\$15.00	\$2,490.00
	4.7 Concrete Walk 4"	725.00	SF						\$6.40	\$4,640.00
	4.10 ADA Ramps	7.00	EA						\$1,300.00	\$9,100.00
	Total for Ponce & The Mall									\$23,398.72
									QUOTE TOTAL	\$105,691.24